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General Instructions to the Candidate :

1. This Question Paper consists of 57 objective and subjective types of

questions.

gRonm-ISoBhe 2

2. This question paper has been sealed by reverse jacket. You have to cut on

3x

the right side to open the paper at the time of commencement of the

3]
)

examination. Check whether all the pages of the question paper are intact.

TEAR HERE TO OPEN THE QUESTION PAPER

3. Follow the instructions given against both the objective and subjective

types of questions.

4. Figures in the right hand margin indicate maximum marks for the

questions.

5. The maximum time to answer the paper is given at the top of the question

paper. It includes 15 minutes for reading the question paper.

Tear here
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L. Four alternatives are given for each of the following questions / incomplete
statements. Only one of them is correct or most appropriate. Choose the correct

alternative and write the complete answer along with its letter of alphabet.

10x1=10

1. The Bank Account that is best suitable for businessmen is
(A) Savings Bank Account (B) Current Account
(C) Recurring Deposit Account (D) Term Deposit Account.
2.  ‘Prohibition of Dowry Act’ was passed in the year
(A) 1961 (B) 1987
(C) 1988 (D) 1989.
3. Direct tax among the following is
(A) Central Excise Duty (B) Personal Income Tax
(C) Service Tax (D) Foreign Travel Tax.

4. In Group-A list of entrepreneurs and in Group-B enterprises established by

them are given. Identify the group that matches.

Group-A Group-B
(@) Azim Premji (i) Biocon Ltd.
(b) Dr. Pratap Reddy (i) Jet Airways
(¢) Kiran Majumdar Shah (iii) Wipro Technologies
(d) Naresh Goyal (iv) Apollo Hospitals.
a b c d
(A) iv i ii iii
B) i ii iii iv
(C) iii iv i ii
(D) ii iii iv i
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5. The type of soil which is largely found in Rajasthan is

(A)

(€)

Alluvial soil (B) Desert soil

Red soil (D) Laterite soil.

6. The Minto-Morley Reforms of 1909 laid the foundation for the partition of

India because it

(A)
(B)
(€)

(D)

abolished the Dual Government
established a Board of Control
nominated Indians to the working committee

formed a separate electoral constituency based on religion.

7. The exact matching of the marked places in the map is

(A)
(B)
(€)

(D)

1 — Amritsar, 2 — Guwahati, 3 — Hyderabad
1 — Guwahati, 2 — Hyderabad, 3 — Amritsar
1 — Hyderabad, 2 — Amritsar, 3 — Guwahati

1 — Allahabad, 2 — Hyderabad, 3 — Amritsar.
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India successfully supported Nelson Mandela because

(A) India called Nelson Mandela as African Gandhi

(B) Indian foreign policy is against Apartheid policy

(C) India is a leading member of the U.N.O.

(D) India follows N.A.M.

We observe 10th December as ‘Human Rights Day’ because

(A) Abraham Lincoln abolished slavery on 10th December, 1865

(B) Nelson Mandela was released from prison on 10th December, 1993
(C) U.N.O. declared Universal Human Rights on 10th December, 1948
(D) India declared Fundamental Rights to its citizens.

Principles of Swarajya and Swadharma advocated by Dayanand Saraswati

inspired people to

(A) establish classless society

(B) fight against Sati and child marriage
(C) take part in the freedom movement

(D) bring educational reforms.

II. Answer the following questions in a sentence each : 14x1=14

11.

12.

13.

14.

15.

16.

17.

“Writing history of common people has become a challenge to historians.”

Why ?

How did Sir Syed Ahmed Khan educate the Muslim Community ?
Why did the socialist system collapse in Russia ?

Which policy of the British sowed the seed of communalism in India ?
What is meant by Colonialism ?

Who were the leaders of Chipko Movement ?

“Sarva Shiksha Abhiyana” plays an important role in eradication of child

labour. How ?
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18. Which soil is also called ‘Regur Soil’ ?
19. Why is ‘National Power Grid’ established ?
20. Why should we grow Mangrove forests along the coasts ?
21. Which states of India are more affected by cyclones ?
22. Who presents the Central Budget in Lok Sabha ?
23. Who stated that the “True development of India is the development of its
villages” ?
24. Why is Reserve Bank of India called ‘Mother of Banks’ ?
III. Answer the following questions in two to four sentences each : 25 x2 =50

25. Which were the factors that helped Europeans to discover new sea route to

India ?
OR
What were the results of Battle of Buxar ?
26. Why do we remember Mysore Wodeyars ?

27. “Formation of Andhra Pradesh based on language was essential to Indian

Government.” Why ?

28. “Joseph Stalin moulded Russia into a force capable of challenging America.”

How ?
29. Which are the steps taken by the Indian Government to eradicate illiteracy ?

30. How is Food and Agricultural Organization ( FAO ) working to solve the world

problems ?

31. “In recent days the practice of untouchability in India has started declining.”

Give reasons.

32. Differentiate between Andaman and Nicobar Islands and Lakshadweep

Islands.
33. “Climatic condition of India has a great significance on its economy.” Justify.

34. Classify the following trees under Tropical grasslands and Alpine forests of

Himalayas :

Silver, Babool, Seesum, Laurel.
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35. Differentiate between Kharif and Rabi seasons.
36. How is remote sensing technology helpful during natural calamities ?
37. “Growth of population is a cause for innumerable problems.” Justify.
38. How can ‘Inclusive Growth’ of a country be achieved ?
39. “Globalization leads to environmental degradation.” How ?
40. Mention the areas of Hyderabad Karnataka.
41. Mention the prominent social reformers of India.
42. Which are the objectives of Indian Foreign Policy ?
43. Which are the effects of terrorism ?
44. What are the steps taken by the Government to eradicate untouchability ?
45. Which are the four major physical divisions of India ?
46. Mention the types of soil.
47. Mention the four climatic seasons of India.
48. Which are the indicators of Human Development ?
49. What are the services offered by banks ?
IV. Answer the following questions in six sentences each : 6x3=18

50. Explain how the administrative system and economic policy of the British

became the causes for the First War of Indian Independence.
OR

Explain how the land revenue system of the British affected the Indian

farmers.

51. “The relationship between India and China nowadays is strained.”

Substantiate.
OR

“India is playing a very important role in upholding the Human Rights.”

Substantiate.
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52. Explain the remedial measures for unemployment.
OR
Explain the importance of Women’s Self Help Groups.
53. What are the remedial measures to overcome the scarcity of power ?
OR
What are the problems of Road Transport in India ?
54. How did India try to achieve economic development after independence ?
OR

How does Rural Development help to the economic development of the

country ?
55. What are the advantages of insurance ?
OR
What are the characteristics of an entrepreneur ?
V. Answer the following question in about eight to ten sentences : 4
56. Explain the role of Subhash Chandra Bose in the freedom struggle of India.
VI. 57. Draw an outline map of India and mark the following : 1+3=4
a) 231’ NlLatitude
b) Nagarjuna Sagar Project

c) Bhadravati.

Alternative Question for Blind Candidates only : (In lieu of Q. No. 57)

What are the uses of Himalayas in the life of the people of India ? 4
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